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1. The far point with respect to the human eye is:

(a) the furthest distance a finite size object is from the eye.

(b) the furthest distance a near-sighted person can clearly see without glasses.
(c) the furthest distance that the retina region in the eye is from the eys’s lens.

2. To correct for the far point the eye-glasses need to
- (a) convert parallel light rays coming from infinity to form a real image at the
unaided eye’s near point =
(b) convert parallel light rays coming from infinity to form a virtual image at the
" unaided eye’snearpoint 0 oo o oo
(c) convert parallel light rays (i.e. light from a distant source) going through the lens
to form a VEtEd image that appears to be at the unaided eye’s far-point.

How does one determine what the needed focal length of the eyeglasses?

3. A far sighted woman reading a book needs glasses that will:

(a) convert light rays from a source at distance of 25c¢m from her eye, to appear to be
from a virtual image at her more distant near point.

(b) convert light rays from a source at her far point to appear as a virtual image at her

near point.
(c) produce a real image at a distance of 25¢m from her eye, from a source that is at

her more distant near point.

How does one determine what the needed focal length of the eyeglasses?

4. A+ A=2A if Aisanumber
(a) always (b) not all the time

5. A+ A=2A if the first A is an intensity from one laser beam and if the
second A is an intensity of a second laser beam with the same frequency
as the first beam.

(a) always (b) not all the time
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